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Position vs. Time Graphs

BIG IDEA – Slope of the Position vs. Time graph is VELOCITY.
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Use the position vs. time graph above to answer the following.  SHOW YOUR WORK:
1. What the total distance traveled in the 12 seconds shown?

2. What is the total displacement that occurred during the 12 second shown? 

3. What is the average velocity for the object from t = 0 to 8 seconds?

4. What is the instantaneous velocity for the object at t = 1 second? (Hint: this is the SLOPE at that time):

5. What is the instantaneous speed for the object at t = 1 second?

6. Indicate two time intervals (i.e., t = 0 to 2 seconds) that represents slowing down:

7. Indicate a time interval that represents speeding up:
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Velocity vs. Time Data
BIG IDEA – 
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A student observing the motion of a unicyclist collected the following data.  SHOW YOUR WORK and answer the following:
	Time (s)
	0
	2
	4
	6
	8
	10
	12
	14

	Velocity (m/s)
	5
	5
	5
	7
	9
	5
	-5
	-10


8. What is the average acceleration of the unicyclist from t = 0 to 4 seconds?  

9. What is the average acceleration of the unicyclist from t = 4 to 10 seconds?  

10. What is the speed of the unicyclist at t = 14 seconds?
11. Assuming the velocity from t = 0 to 4 seconds is a constant velocity, how far did the unicyclist travel during the first four seconds?   

12. Did the unicyclist ever change direction?  How could you tell?

Velocity vs. Time Graphs

BIG IDEA – Slope of the Velocity vs. Time graph is ACCELERATION
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Use the velocity vs. time graph above to answer the following:

13. What is the average acceleration for the time interval t = 0 to 8 seconds?
14. What is the average acceleration for the time interval t = 8 to 16 seconds?

15. What is the instantaneous acceleration at t = 2 seconds?

16. What is the instantaneous acceleration at t = 12 seconds (don’t say “zero”)?

BIG IDEA – The Area between the V vs. T graph and the horizontal axis is displacement.

17. What is the displacement that occurs from t = 0 to 4 seconds?  
18. What is the displacement that occurs from t = 4 to 10 seconds?

19. What is the displacement that occurs from t = 10 to 14 seconds?

20. What is the displacement that occurs from t = 14 to 16 seconds?

21. What is the total displacement that occurs from t = 0 to 16 seconds?
22. Complete the following data table, and then use the data to construct a Position vs. Time Graph below:



23. Label each 2-second time interval as speeding up, slowing down, or constant velocity.
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